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A. Plant Tissue 

A tissue is a group of similar cells held together by 

cementing substance produced by them, for 

performing a specific function. There are two types of 

tissues in plants: meristematic tissue and permanent 

tissue. Meristematic tissues are found in growing 

parts of the plants such as root and shoot tips. These 

are called apical meristem. The tissue occurs right 

from the birth of plant are called primary meristem. 

Permanent tissue arises from the meristematic tissue 

and form the major portion of the plant body. These 

include simple and complex tissues. Simple tissues are parenchyma, Sclerenchyma and 

collenchymas. Complex tissues are xylem and phloem.  

1. Which cells have ability to divide? 

 i)    Meristem     ii)    Xylem 

 iii)   Phloem     iv)   Collenchyma 

2. Meristematic tissues in plants are 

 i)    localised and permanent  ii)    not limited to certain regions 

 iii)  localised and dividing cells  iv)   growing in volume 

3. If the tip of sugar cane plant is removed, even then the part that remains in the fields keeps 

on growing in length. It is due to the presence of 

          i)  Cambium     ii)   Apical meristem 

         iii) Lateral meristem    iv)  Intercalary meristem 

 

In the following questions , a statement of assertion is followed by a 

statement of reason. Mark the correct choice as: 

 

i) If both assertion and reason are true and reason is the correct explanation 

of  assertion. 

ii) If both assertion and reason are true and reason is not the correct explanation of 

assertion. 

iii)   If assertion is true but reason is false. 

iv)   If assertion is false but reason is true. 

v)    If both assertion and reason are false. 

4. Assertion: Parenchyma cells help in storage of food. 

 Reason: Parenchyma cells are main seat of photosynthesis. 

5. Assertion: Most of plant tissues are dead. 

           Reason: Due to sedentary existence of plants, dead cells provide  

                                mechanical  strength more easily than live ones and need less maintenance. 

 



6. Assertion: Meristematic tissues constitute the major portion of plant body. 

 Reason: Meristematic tissues consist of differentiated cells. 

 

 

B. Animal Tissue 

Bone is a very strong and rigid tissue. A compact bone 

consists of living bone cells, called osteoblasts, embedded in 

a firm calcified matrix. The matrix of bone occurs as layers 

called lamella. The Haversian canals are present in matrix. 

This along with surrounding lamellae and osteocytes 

constitutes Haversian system. The osteoblasts are present 

between lamellae contained in lacunae which are arranged in 

concentric circles present throughout the matrix. The lacunae 

are also transverse by nerves and blood vessels. The blood 

vessels passing through them provide nutrients to osteoblasts 

and help in exchange of materials. Matrix bones composed of 

protein called ossein and mineral salts like calcium 

phosphate, calcium carbonate, sodium chloride and magnesium phosphate. These 

inorganic salts are responsible for hardness of the bones.  

7 Bone matrix is rich in 

 i)   fluoride and calcium      ii)   calcium and phosphorus 

 iii)  calcium and potassium      iv)   phosphorus and potassium 

8. Haversian system is typically found in the bones of  

 i)   Fish        ii)    Aves  

 iii)   Reptile        iv)   Mammals 

9. Bone forming cells are 

 i)   Osteoblasts       ii)    Osteoclasts 

 iii) Chondroblasts      iv)    Chondroclasts 

10. Which of the following provides rigidity to bone? 

 i)    Proteins     ii)   Ossein 

 iii)  Calcium and magnesium minerals iv)   Blood 

 

 

 

 

 

 

 

 

 



A. पादप ऊतक 

एक ऊतक सभान कोशिकाओॊ का एक सभूह है जो एक 
विशिष्ट कामय कयने के शरए अऩने द्िाया उत्ऩाददत 
ऩदाथय को जोड़ ेयखती हैं । ऩौधों भें दो प्रकाय के ऊतक 
होते हैं: विबज्मोतक ऊतक औय स्थामी ऊतक। 
विबज्मोतक ऊतक ऩौधों के फढ़ते बागों जैसे जड़ औय 
प्रयोह तॊत्र भें ऩाए जाते हैं। इन्हें िीर्यस्थ विबज्मोतक 
कहा जाता है। ऩौधे के जन्भ से ही उऩस्स्थत ऊतक 
प्राथशभक विबज्मोतक कहराते हैं। स्थामी ऊतक विबज्मोतक ऊतक से उत्ऩन्न होते हैं औय ऩौधे के ियीय 
का प्रभुख बाग फनाते हैं। इनभें सयर औय जदटर ऊतक िाशभर हैं। सयर ऊतक ऩैयेन्काइभा , 
स््रेयेन्काइभा औय कोरेन्काइभा हैं। जदटर ऊतक जाइरभ औय फ्रोएभ हैं। 

1. ककन कोशिकाओॊ भें विबाजन कयने की ऺभता होती है? 

 i) विबज्मोतक      ii) जाइरभ 

 iii) फ्रोएभ       iv) कोरेन्काइभा 

2. ऩौधों भें विबज्मोतक ऊतक हैं 

 i) स्थानीमकृत औय स्थामी    ii) कुछ ऺेत्रों भें सीशभत नहीॊ है 

    iii) स्थानीमकृत औय विबास्जत कोशिकाएॊ  iv) आमतन भें फढ़ने िारी 

3. मदद गन्ने के ऩौधे का ऊऩयी शसया हटा ददमा जामे कपय बी खेत भें फचा हुआ दहस्सा 
रॊफाई भें फढ़ता येहता है। मह ..................... की उऩस्स्थतत के कायण है।  

      i) ऩार्शिय विबज्मोतक    ii) िीर्यस्थ विबज्मोतक 

      iii) स््रेयेन्काइभा         iv) अॊतवियष्ट विबज्मोतक 
निम्िलऱखित प्रश्िों में, अलिकथि के बाद उसका संिावित कारण ददया गया है। सही 
विकल्प के रूप में चिह्नित करें: 
i) मदद अशबकथन औय कायण दोनों सत्म हैं औय कायण, अशबकथन की सही व्माख्मा है ।  

ii) मदद अशबकथन औय कायण दोनों सही हैं औय कायण, अशबकथन की सही व्माख्मा नहीॊ है।  

iii) मदद अशबकथन सत्म है ऩयन्तु कायण असत्म है। 
iv) मदद अशबकथन असत्म है ऩयन्तु कायण सत्म है। 
v) मदद अशबकथन औय कायण दोनों असत्म हैं। 

 



4. अशबकथन: ऩैयेन्काइभा कोशिकाएॊ बोजन के बॊडायण भें भदद कयती हैं। 

   कायण: ऩैयेन्काइभा कोशिकाएॉ प्रकाि सॊर्शरेर्ण का भुख्म स्थान हैं। 

5. अशबकथन: अधधकाॊि ऩादऩ ऊतक भतृ होते हैं। 

   कायण: ऩौधों के गततहीन अस्स्तत्ि के कायण, भतृ कोशिकाएॊ जीवित कोशिकाओॊ की तुरना भें अधधक   

         माॊत्रत्रक िस््त प्रदान कयती हैं तथा इनके यखयखाि की आिर्शमकता कभ होती है। 

6. अशबकथन: विबज्मोतक ऊतक ऩौधे के ियीय के प्रभुख बाग का तनभायण कयते हैं। 

   कायण: विबज्मोतक ऊतकों भें विबेददत कोशिकाएॊ होती हैं। 
 

B. जन्तु ऊतक 

हड्डी एक फहुत ही भजफूत औय कठोय ऊतक है। एक सुगदठत हड्डी भें जीवित अस्स्थ कोशिकाएॊ होती हैं ,  
स्जन्हें अस्स्थकोयक कहा जाता है , जो केस्शिमभ से फनी एक ऩ्की आधात्री भें धॉसी होती हैं। हड्डी की 
आधात्री रैभेरा नाभक ऩयतों के रूऩ भें  होती है। इस आघात्री भें 
हैिसय नाशरकाएॉ भौजूद होती हैं। मह आसऩास के रैभेरी औय 
अस्स्थकोयक के साथ हैिेरयमन तॊत्र का गठन कयता है। 
अस्स्थकोयक रैकुने भें तनदहत रैभेरी के फीच भौजूद हो ती हैं जो 
ऩूयी आधात्री भें भौजूद सॊकें दित ितृ्तों भें व्मिस्स्थत होते हैं। रैकुने 
बी नसों औय य्त िादहकाओॊ द्िाया अनुप्रस्थ होते हैं। इनसे 
गुजयने िारी य्त िादहकाएॊ अस्स्थकोयक को ऩोर्क तत्ि प्रदान 
कयती हैं औय साभग्री के आदान-प्रदान भें भदद कयती हैं। हड्डडमों 
की ओसीन नाभक आधात्री प्रोटीन, कैस्शिमभ पॉस्पेट , कैस्शिमभ काफोनेट , सोडडमभ ्रोयाइड औय 
भैग्नीशिमभ पॉस्पेट जैसे खतनज रिणों से फनी होती है । मे अकाफयतनक रिण हड्डडमों की कठोयता के 
शरए स्जम्भेदाय होते हैं। 

7 हड्डडमों की आधात्री ................ से सभदृ्ध है 

 i) फ्रोयाइड औय कैस्शिमभ    ii) कैस्शिमभ औय पास्पोयस 

 iii) कैस्शिमभ औय ऩोटेशिमभ   iv) पास्पोयस औय ऩोटेशिमभ 

8. हैिेरयमन तॊत्र आभतौय ऩय ......................... की हड्डडमों भें ऩामा जाता है 

 i) भछरी      ii) ऩऺी 

 iii) सयीसऩृ       iv) स्तनधायी 



9. हड्डी फनाने िारी कोशिकाएॉ ............................ हैं 

 i) अस्स्थकोयक     ii) ऑस्स्टमो्रास््स 

 iii) कोंड्रोब्रास्ट     iv) कोंड्रो्रास्ट 

10. तनम्न भें से कौन हड्डी को कठोयता प्रदान कयता है? 

 i) प्रोटीन      ii) ओसीन 

 iii) कैस्शिमभ औय भैग्नीशिमभ खतनज iv) य्त 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

       

Answer Key 1-i), 2-iii), 3-iv), 4-ii), 5-i), 6-v), 7-ii), 8-iv), 9-i), 10-iii). 

 


